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E 9,157 10,327 12.8 9,157 | 10,327 12.8
F Yo 2,099 2,026 | A3.5 2,099 2,026 A3.5

Sg=ulelst
C 19 1,347 1,358 0.8 1,347 1,358 0.8
s T A 249 339 36.1 249 339 36.1

F D SLES MW SI| HHIY.

@ SHOI AN 22, AJIE2, (J2o] AN ZagUS.




Ch. &4
(Er|: BHOF 22f %)
18 18 194 14 SHE
T =
H+E |=8 | U8 (58 | UHTE | =52
1. & H| XY 6,753 299 | 7,141 516 5.8 72.4
o 3 = 563 2 673 2 19.4 12.7
o AF AH|XY 2,025 36| 2,194 48 8.3 33.4
(i) 27 5 29 3 7.0 A37.8
(F ) 84 1 89 1 6.2 46.1
o L7 2H|X 2,408 241 2,353 442 N2.3 83.6
(I E) 388 28 495 245 27.5 761.6
(&8%t 915 27 670 24| A26.7| A13.4
(=) 39 61 21 53| A47.0| A14.1
(BZgE) 37 1 38 0 3.0| ~97.5
O H|LfT AH|XY 1,756 21 1,922 24 9.5 14.5
(el &) 858 3 977 3 13.8 19.1
2. & Xt A 12,946 | 10,166 | 13,672 | 9,470 5.6 N6.8
o 7 5,166 | 6,571 5,317 | 5,802 29| A11.7
o & = 1,399 679 1,300 547 AT A N19.5
o 43¢ ¥R 558 212 573 190 26| ~10.4
o 7 X 107 2 89 41 A17.1 79.0
o wF 228 132 243 148 6.5 12.0
o 3 & E 2,649 | 1,492 2,835| 1,652 7.0 10.7
o 3 Z X 1,120 503 | 1,343 566 19.9 12.5
o HIEaZH 837 329 802 325 N4.2 N
o 7|E} 882 245 | 1,171 237 32.8 N3.4
3. Xt 2 W 10,566 | 5,076 | 9,223 | 5,009 | A12.7 A1.3
o Z|AFet MUY 5,075 714 | 3,768 707 | A25.8 A1.0
o MI|-™MXL7|7| 4,677 | 4,158 | 4,579 | 4,111 A2 N
(HESA7|7]) 2,084 717 | 2,075 536 AN0.5| A25.3
(HFEZA) 956 | 2,790 924 | 3,022 A3.4 8.3
o = & Z | 597 184 706 175 18.1 A48
o 7|E} 216 20 170 16| A21.1| A21.0
s Al 30,264 | 15,541 | 30,036 | 14,995 A0.8 A3.5
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_15_

ALK s
(CHY| @ oMo =2y)
1814 1914
2 184 1€ ["194d 1¢
™ . S =740l 1714 171 =7toH
| | 3,416 1,294 | —-2.122 3,416 1,294 | -2.122
o] = 229 928 699 229 928 699
o = -1,901 —1.436 466 -1,901 —1.,436 466
E U -1,224 189 1,413 —-1.224 189 1,413
s F -801 -1,320 -519 -801 -1,320 -519
0 o ct -115 -40 76 -115 —-40 76
= 4 of 6,295 5,765 -530 6,295 5,765 -530
(HELH 2520 2,062 -458 2,520 2,062 -458
(2 2) 3,242 2062 | -1,180 3,242 2,062 | -1,180
(M7tz=2) 156 932 777 156 932 777
(cf 2t -86 ~51 35 -86 -51 35
= = -5,401 —4,732 668 -5,401 -4,732 668
=z = 4,224 492 | -3,733 4,224 492 | -3,733
=l 516 295 -220 516 295 -220
=2i=7dEt
=R -600 -292 308 -600 -292 308
(C | 9)
=73 832 890 58 832 890 58
I SUOF AR B2, AJIEE, (0O AIXQ| LB US



EXEHEEE &)
1. =& 43X
ot 2=
(BH9] ot 22, %)
7 = 18 119 1€ == 11?15% 1’1912 =xz
1. A2 2 AFAH|R 622 622| A0.1 622 622| ~A0.1
2. 217 2 oz 4,171 4,009 ~3.9] 4,171 4,009 23.9
o MRHE 3,636/ 3,405| A3.7| 3,536 3,405 A3.7
3. 43¢ HME 2,811 2,807| ~0.2| 2,811 2,807| ~0.2
o o 7 At 118 107| A9.5 118 107| A9.5
o A= 426 382| A10.2 426 382 A10.2
o o|F 160 149 A7.3 160 149| A7.3
o 1nRE0 ¥ FE 273 298 8.9 273 298 8.9
o = 34 93| 177.6 34 93| 177.6
o B0|F 249 231 A7.2 249 231 A7.2
4. B33t IUE 41,362 38,546| ~6.8| 41,362 38,546 ~6.8
o 33 E 5,851 5,716| ~2.3| 5851 5,716] A2.3
o HZME 3,818 3,855 1.0 3,818 3,855 1.0
o J|ARFt deTI|7| 5,170 5,175 0.1 5,170/ 5,175 0.1
o MI[-MAHZF 16,894 13,745| A18.6| 16,894| 13,745 A18.6
(ZHHHME) 550 650 18.1 550 650 18.1
(HES17]7]) 2,491 2,473| A0.7| 2,491 2,473 AO0.7
- HFH 844 662| A21.6 844 662 A21.6
- FMEAT|7] 1,450/ 1,637| 12.9| 1,450 1,637 12.9
(Bt = A|) 9,884 7,680 A22.3| 9,884 7,680| A22.3
- MC|HtO[A 1,059 581| A45.1 1,059 581| A45.1
o 4 & & | 8,761 9,182 4.8/ 8,761 9,182 4.8
(E2X=XR}) 2,486 3,353| 34.9| 2,486 3,353| 34.9
(AtSAHRE) 1,697 1,761 3.7 1,697 1,761 3.7
(M gh 4,120/ 3,605| A12.5| 4,120/ 3,605 A12.5
= A 48,967| 45,983 A6.1| 48,967 45,983 AB.1
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Lt =JHXIS)E

(49| : B40F =2y %)
72 |sd 1Y Mod 1g 184 ) 1od
=zt2 | 171¥ 1714 =7t2
M= 48,967 | 45,983 AB.1 | 48,967 45,983 AB.1
o = 4,768 5,941 24.6 4,768 5,941 24.6
d &= 2,627 2,616 A0.4 2,627 2,616 A0.4
E U 4,459 5,412 21.4 4,459 5,412 21.4
s F 688 705 2.5 688 705 2.5
74 Lt ct 310 440 42 1 310 440 42 1
= & of 13,633 | 11,914 | A12.6 | 13,633 11,914 | A12.6
(HE 4,150 3,858 AT.0 4,150 3,858 AT.0
(& 3 3,763 2,227 | A40.8 3,763 2,227 | A40.8
(M7tzZ=2) 1,173 1,397 19.1 1,173 1,397 19.1
(CH 2h 1,410 1,341 A4.9 1,410 1,341 N4.9
s 5 1,780 1,460 | A18.0 1,780 1,460 | A18.0
E 13,079 | 10,877 | ~16.8 | 13,079 10,877 | ~16.8
s & o 2,420 1,999 | A17.4 2,420 1,999 | A17.4
%(%Ef%@ 655 905 38.2 655 905 38.2
s+ 3 1,011 1,033 2.3 1,011 1,033 2.3
= D z2s2 MY SJ| OH E2S.
@ SHOI AXNs B2, AJIE2, (129 AN ZSHUS



2. 2SN &
(SE R =)
184 194

T = 184 1& ['194 1& =otol 11 11 e
M A 3,161 952 | 2,209 3,161 952 | -2,209
o = -163 663 825 -163 663 825
d = -1,858 -1,430 429 | -1,858 —1,430 429
E U -1,260 564 | 1,824 | -1,260 564 1,824
s F -919 -1,317 -398 -919 -1,317 -398
74 Lt Ct -158 -103 55 -158 -103 55
s & ot 6,730 5,315 | —1,415 6,730 5,315 | -1,415
(HI EE 2,393 1,893 -500 2,393 1,893 -500
(& 3 3,575 2,072 | -1,503 3,575 2,072 | -1,503
(Al7tz=2) 349 816 467 349 816 467
(B gh -107 11 118 -107 11 118
E -5,565 -4,700 866 | —5,565 -4,700 866
E 3,922 551 | —3,371 3,922 551 | -3,371
= o 321 -27 -348 321 -27 -348

%(Z‘ﬁlj %‘g -693 -453 240 -693 -453 240
s+ 3 761 694 -67 761 694 -67
x = OSHOL AR BB, AJIE2, (0o AXN0| L



